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4-A4

K& 1 |/(40sin60°) + (50 +40c0s60°)° = 78.IN 40N
S - tan) 20SIN60% ) _oe30 k)
50+40cos60°

50NN 4 0NDOAMENTWS F~26. 3°
AHORES &4 (1, 5) k026N

DN DI tan‘(%j =78.7°

a7
(30c0830°+30c0s150° + 25c0s315°,30sin 30° + 30sin150° + 25sin 315°)
=(17.7N,12.3N)

EEVITTP 41237 =216N 0O tan'(12.3/17.7)=34.8°  x #h X b R

FHmAN,

A B
Bcos30°+ Acos135°=0 Iy 45° 30°
Asin135°+Bsin30°-30%x9.8=0 C

A=264N,B =215N
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4Bl AN (137) EoTkhkE Xz V7P +3°+7° =10.3N

4-B2 A
R-3/5T=0 Iy T =(5/4)mg —
, N
(4/5T -mg =0 R=(3/4)mg Wem N
4-B3 B Socm — R
. /
Acos45°+Bcos150°=0 Iy A=0.897mg St
Asin45°+Bsin150°—mg =0 B =0.732mg mg
4-B4
Dcos45°+Ccosl35°=0 A=(2/\/5)mg

Dsin45°+Csinl135°-mg =0
Acos45°+ Dcos225°+Bcos135°=0
Asin45°+ Dsin 225°+ Bsin135°—mg =0

Xv  B=(1/+2)mg
C=D=(/2)mg



